
5 + 2 + 2 = 
5 + 3 + 1 = 
5 + 1 + 3 = 

4 + 2 + 2 = 
4 + 3 + 1 = 
4 + 1 + 3 = 

8 – 2 – 2 = 
8 – 3 – 1 = 
8 – 1 – 3 = 

7 – 2 – 2 = 
7 – 3 – 1 = 
7 – 1 – 3 = 

9

9

9

4

4
4

8

8

8

3

3

3





4 + 4= 

4 + 1 + 1 + 1 +1 = 
4 + 2 + 2 = 
4 + 3 + 1 = 
4 + 1 + 3 = 

8 9 – 4= 

9 – 1 – 1 – 1 – 1 = 
9 – 2 – 2 = 
9 – 3 – 1 = 
9 – 1 – 3 = 

5



6 + 4= 

6 + 1 + 1 + 1 +1 = 
6 + 2 + 2 = 
6 + 3 + 1 = 
6 + 1 + 3 = 

10 8 – 4= 

8 – 1 – 1 – 1 – 1 = 
8 – 2 – 2 = 
8 – 3 – 1 = 
8 – 1 – 3 = 

4





 +  +   = 5 2 2 9



 –  –   = 10 1 3 6

 –  –   = 10 3 1 6



3 1 3 7 +  +   = 

 +  +   = 3 3 1 7



 –  –   = 7 2 4 1

 –  –   = 7 1 2 4





А

Б

И

К

Т

Г

БК =  
см

5
ТИ =  
смАГ =  
см

7
5

БК ⃝ ТИ< БК ⃝ АГ= ТИ ⃝ АГ>





А

Б В

Г Р

Н К

П

АБ =  кл. 

БВ =  кл. 

РН =  см

НК =  см


